GVO	ZE	- Commercial	Dade	CIII	SI. IVO. SICE DILIS	Icg.	
ovde		Nature of work	pluml	ying	Dt. site bills reg		
6		Work done from date			M-codex bill ID		
		Work done to date			WO issued?		
nit/floor	Details of work	Contractor bill no.			GST bill require	d?	
no Cilitationi	Ecumo ot more		Qty	Units	Rate ID	Rate	Amount
	hdpe cureing line		201		MEIO	3	
	hope fittings		707	11111	TOTOTAL	13	4953
	najve minigo		50	no's	MIS102	75	3750
	rain narveasting eco drain pipe		590	тft	MIS135	24	14160
	eco drain riftings		40	no's	MIS132	40	1600
CIVII WORK	cateleria both washroom cpvc and pvc pipe line connections and					15/500	15500
	bedroom flats with 2 bathrooms, kitchen, utility)		_	no's	PB103	18,500	18500
	ground floor cross brasing chipping		ယ	no's		2000	6000
	1st.2nd and 3rd cross bracing chipping		3	no's		2000	6000
	Grand Total						51 963
	Adding 15% far from city						59 757
Remarks: work completed							
Approved by project manager		Approved by QS team			Approved by Direct	or/E&D team	
	1 / 1 / 100	Sign:			Sign:		
	161 22	Date:			Date:		
	civil wo	or gydc gydc gydc	or Details of work hdpe cureing line hdpe fittings rain harveasting eco drain pipe ceo drain fittings cafeteria both washroom cpvc and pvc pipe line connections and washbasin concetion water line oht to cafeteria epvc line (Triple bedroom flats with 2 bathrooms, kitchen, utility) ground floor cross brasing chipping lst.2nd and 3rd cross bracing chipping Grand Total Adding 15% far from city	GV ONE gvdc	CVONE CVONE Nature of work Plumbing	CVONE CVONE Nature of work Plumbing	Service Serv

59,757					Adding 15% far from city		
31,903					11: 150/ E. E		
51 063					Grand Total		
	0000	2000	no's	3	1st,2nd and 3rd floor chipping forcroass brasscing	77.00	
	6000	2000	no's	3	glound floor cross bracing north, south side	chipping work	
	15500	15500	no's	-	washbasin conection water line oht to cafeteria cpvc line (Triple bedroom flats with 2 bathrooms, kitchen, utility)	plumbing fittings	
					cafeteria both washroom cpvc and pvc pipe line connections and		•
							
	1600	40	no's	40	eco drain pipe fittings		
	14160	24	rft	590	Rain harvesting pits 6inch eco drain pipe	harvesting pits	
	3750	75	no's	50	hape line littings		
	4953	13	rmt	381	indperime for gardening cureing purpose	hdpe cureing line	
Item Head Total	Amount	Rate	Units	Quantity	han line for and min Description		
					Itom December	Item Head	S No.
						01-12-2023	Date:
						sultan	Prepared By
						Nadeem	Contractor:
	Sign:					plumber	Work Description:
subba reddy	Approved by:					GV1	
						crecentia	Company Name:
							ESTIMATE SHEET

MEASUREMENT SHEET	ET							
Company Name:	crecentia					A		and de
Project:	GV1					Sign:	Jy.	Suppa Icudy
Work Description:	civil work					ngio.		
Contractor:	nadeem				ł			
Prepared By	sultan							
Date:	01-12-2023							
			Α	В	C	D	H	ודי
S No.		Item Description	Length	Width	Height	Nos	Ouantity	Units
		hdpe line for gardening cureing purpose	381	1	1	1	381	Rmt
		Gi ball valve	1	1	1	10	10	No's
	hdpe cureing line	Gi elbow	1	1	1	10	10	No's
		Gi nipple	1	1	1	20	20	No's
		Gi Tee	1	1	1	10	10	No's
		Rain harvesting pits 6inch eco drain pipe	590	1	1	1	590	Rft
_	·	eco drain Tee	14	1	1	1	14	No's
	harvesting pits	eco drain 45bend	20	1	1	1	20	No's
		eco drain pipe	6	1	1	1	6	No's
	plumbing fittings	cafeteria both washroom cpvc and pvc pipe line connections and washbasin conection water line oht to cafeteria cpvc line	2	1	1	1	2	No's
		glound floor cross bracing north, south and lobby	w	1	1	w	3	No's
	chipping work	1st,2nd and 3rd floor chipping forcroass brasscing	3	1	1	3	3	No's

Allowance for Equipment

Nadeem mallapur. Hyderabad.

Date: 23.02.2024

In favor of:

Crescetia Labs Pvt Ltd.

Project / Site:

GV ONE

Location: Genome Valley, Turkapally Type of Work: plumbing work.

Towards:

Allowance for Equipment labour.

S No.	Description	Amount
1.	Brief description of work done: Towards plumbing	
	work.	Rs: 23,902/-
	Total Amount = Rs: 59,757/-	
	Work done from date 24.09.2023 to date 16.02.2024.	

Amount in words-: twenty three thouand nine hundred two Rupees only.

Allowance for labour

Nadeem mallapur. Hyderabad.

Date: 23.02.2024

In favor of:

Crescetia Labs Pvt Ltd.

Project / Site:

GV ONE

Location:

Location: Genome Valley, Turkapally **Type of Work:** plumbing work.

Towards:

Allowance for labour.

S No.	Description	Amount
1.	Brief description of work done: Towards plumbing	
	work.	Rs: 23,902/-
	Total Amount = Rs: 59,757/-	
	Work done from date 24.09.2023 to date 16.02.2024.	

Amount in words-: twenty three thouand nine hundred two Rupees only.

Sign:	, a-	

Allowance for consumable charges

Nadeem mallapur. Hyderabad.

Date: 23.02.2024

In favor of:

Crescetia Labs Pvt Ltd.

Project / Site:

GV ONE

Location:

Genome Valley, Turkapally

Type of Work: plumbing work.

Towards:

Allowance for consumable labour.

S No.	Description	Amount
1.	Brief description of work done: Towards plumbing work. Total Amount = Rs: 59,757/- Work done from date 24.09.2023 to date 16.02.2024.	Rs: 11,951 /-

Amount in words-: eleven thousand nine hundred fifty one Rupees only.

Sign:	